N = 0l & At & M A

M 88
MM FOXX IS (ELES)

ool FOEN HYIG(HEHS) (=& &)
SH B (IA) - HRAY - BES Ol &k o plE-1 HDE2
PARSES 457,467 433,067 24,400
FOXX DA EES) 97,401 74,001 23,400

OEN HY2Y(H4S) 97,401 74,001 23,400
AXHEH 29 97,401 74,001 23,400

82 AH| 19,240 17,240 2,000
02 33224l 8,240 6,240 2,000
< A& Y KXH > 0 0 0
o FUXNXMEEH B2+
1,000,000& * 2J4 2 2,000 0 2,000
405 RtakF S| 21,400 0 21,400
01 A&t =2 EF SHI 21,400 0 21,400
o FUNXHEH SESEH 7
14,000,000& * 14 14,000 0 14,000
o FOUXNXHMH HS & &I 2 7,400 0 7,400
- 329 HOl= 270,000& « 204 5,400 0 5,400
- 80lA okt 50,000& * 404 2,000 0 2,000
H H(EES) 220,066 219,066 1,000
167,610 166,610 1,000
]l 167,610 166,610 1,000
2 B2 A H| 99,690 98,690 1,000
Sa29H| 53,456 52,456 1,000
o UEHEXXNS(HIIX) IS ¥ U
Xlgl 1,000,000& * 104 1,000 0 1,000

- 287 -




Al A

=

A
=

Ol &b A

Al

- 288 -

. o o o o o o o o o o o o o o o o o o o o o o o
o_ﬂ_ ()] ()] (o)) (o)) o o o [Te) Yo} Yol (@] Yol < < < <t o o o o o o o
o o
= H
=
<+ Y] Y] [Ye) (<o) (@] D — — o —
o|lo|wo|wo | N |[ov < |lo|o|o |—
Lo ™ @ ™ N (&)} (&)} < [aV}
| .
]
m
0] — — — o o o (@) o () o o () () o () o N~ o0} o0} o] o] o
™ D D (o)) <t o o Y] Yo} Yo (e} L0 < < < < o < ™ ™ — © o
o < <t < [e0] Y] ™ (ap) [ep] ™ — — — Te) N~ N~ o [QV] —
% < < < m ()] » Yo} (V]
aor
<
=
<4 a =3 mw i}
e el h b x _.D b
U x *x x X _IT>A| x
or * W @ o Sy O
v % s 5 s 2 .-
b 3 s g B s = o g
=3 O N T & 3 =S
o S @ ~ R
== _ 7D —
I+ [ 7=
= Rl K oK b
x oW ™
—_ . ul < =4 Ho zl
ma| = — = = | 5 prog
W | = —~ | & B W oW 5 W " i
RIRL| 1o B | o |5 < 5 g2 5 =
== g m |’ | = oo oL @o o
oy 80 | ok | s|s &y DO 5w Xow | 5|5 ¥
ol o |2 ¥ n s Kw| X mglw|lm X a s & 30 B
Bl RO o ™| o | - oo [ oo &2 il 0
=5 . Slm|T|®|m S| 5 R S| |k g ® R|Z oo X
wl 52|20 W | B o | & (M TD
RS RO T glaw|=x 0 |=|< O = =) o S |ol [0 0 R
=] . "3 lR|s]s s ls 9 |5 NSRS |y
ol ol X K |® |[o]| X < < 30|/ H N
R = |a |k wlW|s
e B | 3l | K 7|~
& ok W | K 0
R0 {1 =




N = 0l & At & M A

SN ge
H: HHY2AAH (EH)
& 123l (Sl & &)
SA-EHB - BAEH) - NRAY - BES 0] &b 2 p/E-T Hl D2
g 254,959 253,959 1,000
HE2LZHI () 128,658 127,658 1,000
Jl2&dl 99,849 98,849 1,000
Jl= 3 99,849 98,849 1,000
201 Let24E] 52,769 51,769 1,000
02 2324l 24,919 23,919 1,000
o UFHSINS(HEIIX) EIIR3 & HEFR
PR 1,000,000 * 1CH 1,000 0 1,000
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SA: S8t
I AF2YIJH(SSH)
el o=l (Ste: &)
SA-EH A (SA) - NRAE - BES Off ok 24 I E N Hus
Sste 226,793 225,793 ,000
HY2LAH (S3H) 120,492 119,492 ,000
Jlz 93,603 92,603 ,000
Jlz 93,603 92,603 ,000
201 Lt 48,923 47,923 ,000
02 332l 21,513 20,513 ,000
o UFHSAUMS(HIIX) Mg € MR
Xl 1,000,0002 * 1CH 1,000 0 ,000
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SN A
M. =0I% Jlgt 2 (& AH)
CHol: FOIFO BISH(MAE) 9l:@e)
SAH-AH -2 (SA) - HREAY - BES Ol A+ 2
A H 285, 181 16,850
= 23HAMY) 55,351 16,850
F2d(84MH) 55,351 16,850
HE 249 55,351 16,850
405 KHabE S| 16,850 16,850
01 IHAtY 2 E F SH 16,850 16,850
FOIXXAE SES&EH 2
8,000,0008 * 14l 8,000 8,000
FORXIAE HE D] 2
1,500,000 * 2CH 3,000 0 3,000
ZOIRXIMEH HE L &I 2 5,850 0 5,850
slog goleg 270,0002! * 54 1,350 0 1,350
HOlAl o Xt 50,0002 * 50H 2,500 0 2,500
JlEt 292= 500,000 * 4% 2,000 0 2,000
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S Hae
M =OIRX J|etASHMAE)

S FOEN HESH(AHAH) (2 &HH)
S -G (FH) - NRAY - B Ol &F o = o HDE2
ANaH 253,956 224,556 29,400
FOITHRl DIBHUSH(A AEH) 66,901 38,501 28,400

FOEN HESH(AMAH) 66,901 38,501 28,400
FOXXNAEH 24 66,901 38,501 28,400

405 KHoHFE S HI 28,400 0 28,400
01 XA 2B F S| 28,400 0 28,400

o FOXXHEH SE&HH F
8,000,000& = 1Al 8,000 0 8,000

o FONME WueI| 7Y
2,000,000& = 1CH 2,000 0 2,000
o FOIXXMEH HE Y &I 2 18,400 0 18,400
- 3o Hols 270,000 = 2004 5,400 0 5,400
- 80l o Xt 50,000& = 60H 3,000 0 3,000
- BT 2 AH 5,000,000& = 1CH 5,000 0 5,000
- JEt 2HES 500,000 = 10 5,000 0 5,000
HESAAH (MAH) 117,055 116,055 1,000
Jleddl 90, 166 89, 166 1,000
Jl2 &34l 90, 166 89, 166 1,000
201 gEt24y| 46,126 45 126 1,000
02 Z2=2=24%4| 18,366 17,366 1,000

o USFHEXXNS(MIX) HIes & IR

Xl Hl 1,000,000 = 1CH 1,000 0 1,000
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Mz FOIKX JIg LsH(=LH)

CHelr FolEo BERY(S2H) (et @ e)
2 A .2 (S H) - HEMNY - BHES 0] AFoH Iy H H &2
2o 241,838 187,177 54,661
ZOIXHX Jlgt 2EH(=2H) 53,661 0 53,661
ZOIEO0 HH2H(2LUH) 53,661 0 53,661

ZOINXINE 29 53,661 0 53,661
101 1244 11,011 0 11,011
04 JIZtRIR2XSE2 11,011 0 11,011

o FOXXHEH ARA 2HEX
61,4409 * 1Y » 160Y 9,831 0 9,831
o 4EEE 9,831,000% * 12% 1,180 0 1,180
201 LBt 7,200 0 7,200
01 AF2 22| H 5,000 0 5,000
< det=ZH| > 0 0 0
o FOXXHE AIRA 29|
300,000 * 10¥ 3,000 0 3,000
o EZz)H 29 ARE 00,0002 * 102 1,000 0 1,000
o QOoIFHAAY X L 8=
1,000,000 * 1Al 1,000 0 1,000
02 222 2,200 0 2,200
<2ZQZLAA > 0 0 0
o Z22R2(HI|, M2 £)
220,000 * 10¥ 2,200 0 2,200
206 W24l 300 0 300
01 24l 300 0 300
o ZQNXMEH T2y 29
100,000 * 3% 300 0 300
301 YBrE A2 16,750 0 16,750
09 BAIAHI B A2 2,750 0 2,750
o FOXXFA S HFHEH
100,0009 * 20™ 2,000 0 2,000
o FOUNXAA HA&X ASE A
50,0002 * 159 750 0 750
N IIEtE &2 14,000 0 14,000
o HERIYSY FH ALY B4
300,0002 * 3% = 10’ 9,000 0 9,000
o FOXNXAE SHS O HALDA
20,0002 * 259 = 10’ 5,000 0 5,000
405 KAk S 18,400 0 18,400
01 ML 2EF S 18,400 0 18,400
o FONXMAEH BHEH 2L
1,300,00024 * 1CH 1,300 0 1,300
o FOXXAMAEH 28I 2
5,000,00024 * 1CH 5,000 0 5,000
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A £ 0l & At & & Al A
SA: =08
I AZ2YFHI(S019)
el o=l (Ste: &)
SA-EH A (SA) - NRAE - BES Off ok 24 I E N Hus
S0l¢ 259,477 258,477 ,000
HH2LAH (Z018) 126,676 125,676 ,000
Jlz 97,867 96,867 ,000
Jlz 97,867 96,867 ,000
201 Lt 50,747 49,747 ,000
02 332l 21,097 20,097 ,000
o UFHSAUMS(HIIX) Mg € MR
Xl 1,000,0002 * 1CH 1,000 0 ,000
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N = 0l & At & M A

2AMd: SotH
Ha: #HSAAY(SoHe)

& 123l (Sl & &)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
=ote 226,416 225,416 1,000
HY2FZH (S56HH) 116,415 115,415 1,000

Jl2&dl 89,526 88,526 1,000
Jl= 3 89,526 88,526 1,000

201 Let24E] 45,486 44,486 1,000
02 2324l 18,076 17,076 1,000
o UFHSINS(HEIIX) EIIR3 & HEFR
PR 1,000,000 * 1CH 1,000 0 1,000
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